SUPPLEMENTARY MATERIALS FOR KFL LEARNERS

221 B2Yas

Grammar Rule 1:

a) Verb stem + =72 or L 7}?
It is an interrogative ending of the plain (familiar) speech level; often used to ask

guestions to someone younger or to peers. Professors often use this speech style when
talking to their students.

For the verb 2L}, it conjugates to L+=71? / =7t
For the verb AL}, it conjugates to Y+=7F2 / AR =72

But for the verb O| L}, it conjugates to O|+L 7}? / O|A=7}?

Examples)
e Lfj S

b) Verb stem + =722 or L7} R?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.
For the verb 2L}, it conjugates to 2L+=7}2?

For the verb QUL it conjugates to UY+=712?
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But for the verb O|C}, it conjugates to O|+L 7tR°?
Examples)
o LY St =722

e SHS0| ¢ 7|t D QT2
e 122 HEHIE D42

Grammar Rule 2:

Verb stem + L|?

~L| is an interrogative suffix of the plain speech level used when asking a question to the

someone younger. Professors often use this suffix when they converse with their students.
The plain speech level conveys intimacy as the familiar speech level. Never use this suffix
when conversing with someone much older.

For the verb 2L}, it conjugates to 2+L|? / LA|L|? / £tL|? / AlL]|?

For the verb L} it conjugates to H+L|? / &F=A|L|? / HRAUL|? / B AIL|?
For the verb QUL}, it conjugates to U+L|? / AA|L[2 7 U}AL|? / AN L]|?

But for the verb O| L, it conjugates to O[+L|? / O[A|L|? / O|R{L|? / O|A[RAL]|?

Examples)
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Grammar Rule 3:

a) Verb stem +X|?

It is an interrogative suffix often inviting confirmation or assent. This suffix is used when
asking something to someone younger or to peers.

For the verb 2L} it conjugates to 2+X[? / QA[+X[? / 2H+X[?2 / LA+ X]?

For the verb B L}, it conjugates to H+X|? / & Al +X|?2 / HY+X[2 / BN +X|?
For the verb QALY it conjugates to U+X|?2 / AIA+X[? / QUA+KX[?2 7 AW +X]?

But for the verb O| L}, it conjugates to O|+X| / O|A|+X|/ O| *{+X|? / O| M+ X|?

Examples)
o LU SHI 0| @ A|X|?

o {HLITHIAM MY & 4=MX[?

[ ] 9; L°O| —:—Xl?

e L7t ot A2 TS H=0f X[
oKL

o LfY 22| 2HE AX

.,.
\Y

?

b) Verb stem +X|2?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

Examples)
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o L2 gtmoj @AXIR?
o OB LT A M 4 MK| 22

e Q= HIO| X2

e H7H Sl 42 22 H 20| 4K K2
NTECEEIEPI-E

Grammar Rule 4:

a) verb stem + X|?
~X| can be also used with WH-question words. It is a commonly used interrogative suffix of

the plain speech level. ~X| is often used when the older people ask questions to the

younger ones or to peers. You should never use this suffix when conversing with someone
older.

For the verb 2L}, it conjugates to 2+X|? / LA|+X[? / £t+X|? ) LA+ X|?

For the verb H L}, it conjugates to H+X[? / T Al +X[2 / HRA+KX|2 7 B =M+ X2
For the verb UL} it conjugates to QL+X[? / HIA[+X[? / —AY+X|? / A +X[?

But for the verb O|C}, it conjugates to O|+X| / O|A[+X|/ O| 4 +X[? / O| M +X]|?

Examples)
e 0| 0| £210|X[? / O|ZO| HX[? (FALIX]|is contracted into HX])
o SHinOf AKX 2X[?
o X|= ofC|of 7t UAX[?
e 2= FHH0| FAS HX? /2= oo & HX|?
(F A2 is contracted into #)
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b) verb stem + X| 2?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 2L} it conjugates to 2L+X| 27?7/ LA|+X| 27 / 2+ X[Q? / L +X[ Q2

For the verb B L}, it conjugates to H+X| 2?2 / A+ X| Q2 / HU+X| Q2 / B A+X]| 22
For the verb UL} it conjugates to U+X| 2?2 / A A+X| 22/ UR+X| 22 / A H+X| 22

But for the verb O|C}, it conjugates to O|+X| 2 / O|A|+X| 2 / O|}{+X| Q2 / O] +X[Q?

Examples)
o SHI0f| K| 2A|IX| 22
o X|= OfC[Of| AIA|X| &2

e 2= FJol| FAS Y AR R?

Grammar Rule 5:

a) Verbstem +(2)22lf?
It is an interrogative suffix of the plain speech level used to request someone to do
something. You should not use this ending when conversing with older people. This suffix

means “Will you + verb?” or “Can you + verb?“.

For the verb Z}C}, it conjugates to 7H+ 2= 2ff?
For the verb 2L}, it conjugates to 2+=2ff?

For the verb 2L}, it conjugates to H+=2H?
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For the verb QUL}, it conjugates to JU+=2f?

Examples)
o LI I AO| 22f?

o L2 Zo| H4 222
o FY0| P2

2R LdHED?

Il
=
)

b) Verbstem+ ()22 2
When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.
This suffix means “Would you + verb?” or “Could you + verb?“.

For the verb 7L}, it conjugates to 7t+=2 2 2?
For the verb 2L}, it conjugates to 2+= 2 22
For the verb B C}, it conjugates to H+=2 22

For the verb QAL}, it conjugates to Y+=E2H 22

Examples)
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Grammar Rule 6:

a) Verbstem +(2)a27}?

It is an interrogative suffix used when making a suggestion. It means “Shall | + verb?”, “Shall
we + verb?“, “Should | + verb?”, or “Should we + verb?” This suffix is often used when older
people make suggestions to younger ones or to peers. You should never use this suffix when
making suggestions to older people or superiors.

For the verb 7L}, it conjugates to 7H+ 2 77}?
For the verb 2L}, it conjugates to 2+27}?
For the verb 2L}, it conjugates to H+=271t?

=3

For the verb QUL it conjugates to UY+=77t?

Examples)
o LY S AIO] 27712
° 7El-o| PSP I:ngjl.?

oo 12

o 20| A=t Hi 2f?

b) Verb stem + (2)7tR?
When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb Z}C}, it conjugates to 7t+2 7t 8°?
For the verb 2L}, it conjugates to 2L+2 7t R?

For the verb 2L}, it conjugates to H+=277t2?
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For the verb RUL}, it conjugates to Y+=77HL?

Examples)
o L R AIOf 27tR2?
o 20| MAl HHE7tQ?

o TR0 Azt ZO| =NtR?

Grammar Rule 7:

a) Verbstem +(2)27}?

It is an interrogative suffix which can be used to make a suggestion. But in some cases, it can
be also used when the speaker seeks for an answer. It generally means “Do you think that
he/she/it/they would verb?” This suffix is often used when the older people make a
suggestion to the younger ones or to peers. You should never use this suffix when
suggesting to older people or superiors.

For the verb 7}LC}, it conjugates to 7H+277}?
For the verb 2L}, it conjugates to 2+27}?
For the verb 2L}, it conjugates to H+277}?

For the verb QUL}, it conjugates to YU+ 77+?

Examples)
o L H| 7} 2712

o Xz TS0 7HH M Aot R
e 2= MYOo| HHLIHM F& S4S EHIoH2 7}
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b) Verb stem + ()7t 2?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 7L}, it conjugates to 7t+277t2?
For the verb 2L}, it conjugates to 2+277t2?
For the verb B L}, it conjugates to H+= 7t K2

For the verb QUL}, it conjugates to Y+=77HR?

Examples)
o L H|7} 271272

o X5 TS0 7HH O M = RISk R
e 2= MY HLIHM & S4 S EHISHER?

Grammar Rule 8:

a) Verbstem+(2)2 = A2

This ending form is used when asking for permission. This form means “Can
I/he/she/they/it+ verb?” This suffix is often used when older people ask a question to
someone younger or peers. You should never use this suffix when conversing with older
people or superiors.

For the verb 7L}, it conjugates to 7t+2 = US7f?
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For the verb € L}, it conjugates to Ot+2 = US7}?
For the verb 2L}, it conjugates to H+= == US7p?
For the verb RAL}, it conjugates to U+ = US7f?

Examples)

b) Verbstem+(2)2 = USN?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.
This form means “Could I/he/she/it/they + verb?” or “May |/he/she/it/they + verb?”

For the verb 7}LC}, it conjugates to 7t+2 = Y2712
For the verb &L}, it conjugates to Ot+2 = A27tK?
For the verb B L}, it conjugates to H+= = US7tK?
For the verb UL}, it conjugates to Y+= = U272
Examples)

e O|RE & = US>

e LY HRANM =Z2 2 = USNt2?

o FEO| =AM MS LE + USTR?
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Grammar Rule 9:

a) Verb stem + X| 212}

This expression attached to a verb stem is used to make a suggestion meaning ‘Why don’t
you + verb?’ It is often used when older people make a suggestion to someone younger or
to peers. You should never use this suffix when conversing with older people or superiors.

For the verb 7L}, it conjugates to 7+ X| Z124?
For the verb 2L}, it conjugates to 2+ X| J124?
For the verb B L}, it conjugates to H+ X| 212l?

For the verb QALY it conjugates to U+ X| 2124?

Examples)
o 22| 2 E

O{X| 22f?
FOFE K| T12j?

[ ]
o
%
>
S
mjo
Mot N

b) Verb stem + X| A2 Q2?

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 7L}, it conjugates to 7+ A| 12>
For the verb 2L}, it conjugates to 2+ X| 12 2?
For the verb ® L}, it conjugates to H+ X| 12 2?

11| Page

A9 . A35|4A Global Studies Institute, Dongseo University



SUPPLEMENTARY MATERIALS FOR KFL LEARNERS

For the verb QALY it conjugates to U+ X| 12 2?

Examples)
OlX| dea?
FOFE X| 2l R?

[ ]
Jal
il
il
2
mjo
A2t min

Grammar Rule 10

a) Verb stem + (honorifics A|) + (tense marker) + |

It is a declarative suffix of the plain speech level often used when a speaker finds out a new
fact at the time of speaking.

For the verb 2L}, it conjugates to 2| / 2A| | / 24| 7 L3 4|

For the verb S}FC}, it conjugates to StU| / SEA|H| 7 24| 7 SHA U

For the verb <L}, it conjugates to Sl =2UH|

For the verb O| L} it conjugates to O|4| / O|A|4| / O| QY| / O & 4|

Examples)
o X MY 2tX|= 40 FOIH|.
o HTFEUN.

e HEE =2 Al

b) Verb stem + (honorifics A]) + (tense marker) + 4| 2.
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When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb SFLC} it conjugates to otH| R / SHA|H| 2 / Y| K / StalHl 2
For the verb = LI, it conjugates to HH| 2 / A / =R R /=AU 2
For the verb O| L}, it conjugates to O|H| 2 / O|A|H|L /0| H L /O] 4|

Examples)

o X BHR 1tK|= 40 HO|H| K.
o HFIHEU Q.

e HES =AU L.

o A7 EMZE B4 K.

Grammar Rule 11

Verb stem + (2)&

~® is an imperative suffix of the plain speech level when a person who is older in age
requests a younger individual to do something. Professors often use this suffix when they

ask their students to do something. It conveys intimacy. Never use this suffix when
conversing with someone who is considerably older.

For the verb 2L}, it conjugates to 2 &.

For the verb S}FC}, it conjugates to OF &

For the verb 2 AFSHEL it conjugates to 2] AFSHA

For the verb A&, it conjugates to At &
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Examples)
o O] M 7tM A ASHE.

o LHY Stuof 27,

o TR,
ILEE
« B2 IY Bt

Grammar Rule 12

a) Verb stem + (honorifics) + (2)2 3= AL}

The form ()2 3= QL literally means ‘have an ability to do something’. Thus it is used as
the modal verb “can.”

For the verb 7ICh & &= QUCH/ & 5= UASLICH/ 2 = A0

For the verb LHCH '# &= QUCH/ & &= AUSLICH/ & = A0

For the verb THLICE, BHE &= QUCH/ BHe = ASLICH/ B = A0 R
Fortheverb ELHCH B = ACH/ 2 = ASLICH/ 2L = A0

For the verb O[SHSIE}, O[S 4= QUCH/ Ofdfiet 4= USLICE /Ol = AN L

Examples)
«H HPE QS
o M LY ot
e 22| RF 25 MUY £ = ULt
A
T

o XM olofiE
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b) Verb stem + (honorifics) + (2)2 + U AL}

The form (2)2 = URUL} is used as the modal verb ‘could” literally meaning ‘had an
ability to do something.’

For the verb 7}C}, & -’F UALCH, &2 = A/YSLICH/ 2 = A0
For the verb LHCH & <= QURACH/ & = AASLICH/ & 5= AU
For the verb BHLICH, BHet 4= QIQITH/ Dh 4 QIQISLICH B 4 290l
For the verb O|SHSICF, O[S o= QURUCH/ Ol = AASLICE /0l3lE &= AAO R
Examples)
o K= OfX| S 2CHO| Z 5= AR K
o M= K| F0f TIFE B = AU K.
R 25 oM HYENK| 2L = AASLIC
o X=X EFE olsle = ARSI T

c) Verb stem + (honorifics) + (2)2 + SiCt

The form ()2 = AL literally means ‘have no ability to do something’. Thus it is used as
the modal verb “cannot.”

For the verb 7}CH & == QICt/ & = QS LLCH/ & =802
For the verb LICH Y &~ QICH/ W 2= A& L|CH/ E 4 Q10| R
For the verb THLICH Ot 4= QICH/ Ot 4= QIS LICH/ Tt 2= QlojQ
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Fortheverb ELHCH 2 == QICH/ &Y = QSLICH/ Y = 20
F /

HA =
For the verb O[SiSHC}, Of8l 2t 4= BiCt/ Ol et 4= BlEL

Examples)
oA EF=R = =

o XM= U oe £ 3lola.

o 22| RF 25 MUYNK| £ == giCh

o X oloie = Sl LIt

d) Verb stem + (honorifics) + (2)2 T+ A AL}

The form ()2 3= U UL} is used as the modal verb ‘could not” literally meaning ‘had no
ability to do something.’

For the verb 7tCH & &= QIRACH/ Z = BIASLICH/ Z 5= SARU0la

For the verb LHCH '# &= QIRACH/ & == QIASLICH/ & 5= QU0 A

For the verb THLIC DHer 5= QIQUCH/ Bt 4= QIS LICH, BHE = 3i%iolR

For the verb O[SHSIE}, O[S 4= QA RULH/ Ofahet = SIRASLICE / Olsi 4= QiiolR
Examples)

o XM= OfX si2CHOfl & 5= iAo

o XM= X[ F0| TFE T =8I0

o 22| 2 O{X| MUK 2 5= AASLICE

o XM= M XITE oo = SIASLICE
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The form ()& 3= U ZO|C} literally means ‘may/might have an ability to do
something’. Thus it is used as the modal verb “might be able to” or ‘may be able to.”

For the verb 7tCH & == AUZ AO|Ct/ & = AZ AYLICH/ & 5= AS A0[0] 2.
~= A2 Z40| Lt is often contracted to ~ = U= 7Ll in a colloquial form.

~ = U2 A YULIC}is often contracted to ~ == & A L|Ct

~ 3= U2 Z0[0f| K is also contracted to ~= US A0 2

For the verb THLICH BHer o= AS HCH/ BHeE 5= U HGLCH/ B 5= AE2 Ao 2.
Forthe verb BELHCH 2 = UAS ALt/ EE = AS UCH/ 2L = US HO 2.
For the verb O[SHSICE, O[S 4= QU2 AL/ Ofshet = US ALICH/ Ol 5= U=
Aol

Examples)

o X tT= LHY DtM| E & = UAS AL}

o M= LHY Bt = AS AHH 2

o 22| 25 2= MY £ == ULt

f) Verb stem + (honorifics) + (2)2 F+ = Z0|C}

The form ()& F 2= Zd0|C} literally means ‘may/might not have an ability to do
something’. Thus it is used as the modal verb “might not be able to” or ‘may not be able to.”

For the verb 7}Ct, & 5= §12 AO|CH/ & == S AYLICH/ & 5= 812 Aol0 1.
~= @12 ZO|Ltis often contracted to ~ = 812 7{Cl in a colloquial form.
~ = 912 A YL|Ctis often contracted to ~ == §1 = & L|CH
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~ = 812 A0|0f| K is also contracted to ~= 812 A0 2.

For the verb TFLICH Bt o= Q12 AHCH/ BHE == Q12 A L|CH/ BtE == Q12 HO|a.
Fortheverb ELHCH 2 = g2 AL/ 8 = gl2 AU LCH/ 2 = g2 HOla.
For the verb O|SSICY, O|sft == Q1= 7{Ct/ Olslet == @l ZLICH/

ofsiiet = A= Ao

Examples)
o X = LHY Ot E & += 8IS ALICH
+HEUZeE +asoe

=
s H'ﬁ”ﬂl =2 =+ Sl
A
_I_

g) Verb stem + (honorifics) + (2)2 = UUS Ao|LC}

The form ()2 = YRS Z40|C} means ‘could have done something’.

o M ETt= oM wHE T = AAS BLICH

My friend could have met his professor yesterday.

R 25 OH HYNK| £ = AUS AL T
We could have all finished yesterday.

o M= M ETE olele = AAS G T

= T MAMEB
| could have understood my friend.
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h) Verb stem + (honorifics) + ()2 T+ UAUS A 0|}
The form ()2 3= AU S Z40|C} means ‘could not have done something’.

o M| XIF+= oA n=HS Pt = QIS 4L
is

My friend could not have me professor yesterday.

o 22| 257 Of X MY 7K B2 =+ SIAS LT

We could not have all finished yesterday.

o XXM HFE oldhe 5= §IAS AU

| could not have understood my friend.

Grammar Rule 13

Verb stem + (&) 2 Z0|C}

It is a future declarative suffix. We often use this form for the future. It means the same as
the modal “will.”

For the verb 2L}, it conjugates to = 24 YLICt/ = A 0|02 /= AO|LCt

~ A YL can be contracted to ~Z L},
~Z40[0] 2 can be contracted to ~0| K.
~Zd 0| L} can also be reduced to ~7{C}

For the verb S}FC}, it conjugates to & A LICH/ & HO|l2 /& Lt
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For the verb '}, it conjugates to ¥ 2 ZL|CH/ RS Aol / =2 AL}
For the verb O| L}, it conjugates to & ALICH/ & HO|Q /Y ALt
Examples)
o L MY £4H0] S Ao Q.
o XM= etof ngkof Z gLt
o FEOICH AT E EMZHO| A DHLEM 20| SEE Ao 2.

AS

e O|H F U AN RAS & HO2? (F can be contracted to &)

Grammar Rule 14

Verb stem + tense marker &, ¥, & + 2 A 0|LC}
This form means “must have done something”

For the verb 2L, it conjugates to = A YULICH/ 2 A 00| / &2 AO|Ct

~JA YLt can be contracted to ~Z4L|Ct.
~Z40[0| 2 can be contracted to ~0| K.
~ZdO|C} can also be reduced to ~7{Ct

2 ALUCH 22 Aol /22 Aot
For the verb <}, it conjugates to X %t= A L|CtH/ 'EJQI% ola / 'EJQI% 7{Ct
oo
=

For the verb Z}LC}, it conjugates to %

For the verb O|C}, it conjugates to O|

Examples)
o 1 XIFt=ghstof o S AL T
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Grammar Rule 15

a) Verb stem + O}, O, & + Of SIC}

This form means “must” or “have to.”

For the verb 2L}, it conjugates to 2FOF B L|C}. / 2FOF S| K. / 2tOF 8ff / 2OF BHLCL,

For the verb 7}LC}, it conjugates to 7FOF Bt L|Ct / 71O S| 7 7+OF BHC},

For the verb L}, it conjugates to 2} O{OF @ L|C} / HO{OF S| . / 2 0{OF &

For the verb 4L}, it conjugates to &1 0{OF LT}/ 1 0{OF S 2 / 2 Of OF o

For the verb 2 @IS} it conjugates to 2 Q1S OF ©F L| Tt/ 2k QIS Of 8i{ 2 / =215} Of Y

b) Verb stem + O}, 0, O + OF UL}

This form means “had to”.

21| Page

A9 . A35|4A Global Studies Institute, Dongseo University



SUPPLEMENTARY MATERIALS FOR KFL LEARNERS

For the verb 2L}, it conjugates to 2tOF & L|Ct/ 2tOF U0 Q / 210F 31 0]

For the verb Z}C}, it conjugates to 7HOF & L|CH/ 7HOF U0 Q / 7H0F 2104

For the verb B}, it conjugates to 21O OF & L|CH HO{OFHO{ 2 2./ HO{OF O
For the verb 2{Cl, it conjugates to 24 01 OF SH& LTt/ 2101 OF H 02 / 210 OF 3RO

Examples)

o R2|= SKXIALE A3 =I5l OF Y& LT,
= o]

Grammar Rule 16

a) Verb stem + %! + endings

We use this form to express strong will of the speaker. We don’t use this form with the third
person.

For the verb 2L}, it conjugates to LA S LICH / LA K / 270

For the verb Z}LC}, it conjugates to 7t A& LICH / 7t L. / 7t O

For the verb H L} it conjugates to S 0{OF @ L|C} / HO{OF 5{ 2. / B 0{ OF oY,

For the verb L, it conjugates to 2 O{OF @ L|C} / 21 0{OF S| 2 / 9101 Of i

For the verb 2 @IS} it conjugates to 2 Q1S OF ©F L| Tt/ 2k QIS Of si{ 2 / =215} Of Y

Examples)
o M7t SXAFE S AbF =22I5HA01 /.
e M7t SR E S5l otlola.
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e LERHESIE SHAIZY HUES SIS LI

b) Verb stem + O}, 0f, 0 + OFZIC}

This form is used to express one’s strong will for the future because he/she thinks such
actions or behaviors bring positive results for him/her.

For the verb 2L}, it conjugates to 2FOFZI & L|CH/ 2FOFZ 0] Q / 2FO0FZ Of
For the verb 7}LCt it conjugates to 7FOFZI & LICH/ Z7HOFZI 01 Q / 7HOFZ Of
For the verb L} it conjugates to HOJOFZ S L|CH/ HO{OFZ O 2 / HO{OF IO
For the verb &1L}, it conjugates to 2 O OFZ S L|CH/ QI O{OFH O 2 / A O{OFH O

Examples)

Examples)

e 935 TRIAFE RF3E 2HOIBHO} B LTt
=

Grammar Rule 17

a) Verb stem + =0 or L G|
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It is a sentential connective used to indicate to the listener that the speaker is waiting for
feedback from the listener. If a speaker uses this ending, he or she expects to hear an
appropriate response or feedback from the listener.

For the verb 2L}, it conjugates to 2+=0| / =0
For the verb RUL}, it conjugates to RU+=0| / YA =0

But for the verb O|C}, it conjugates to O| +L 0| / O| Y =0

Examples)
o 20| YL (EQHE 4= 210{7)
o LYZL E QI (R& LOIL?)

o LY7F LYY ot o) L =0 (F& =20 ER35?)

b) Verb stem + =0| 2 or =0 R

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 2L}, it conjugates to 2L+=0| 2 ...
For the verb QALY it conjugates to U+=0| 2 ..
But for the verb O|C}, it conjugates to O+ L E1|R

Examples)
o 7| AL A™EAM LHE| 2t=0I8. (OfCA, O{E A St E L 7}?)
e AEO0| UM =0 (BE N E L)

® A:Christine M| X|& QULIR?
B: X7} christine M| Q. (A O =7 M2 F& L0|M27?)
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Grammar Rule 18

a) Noun / verb stem-%&£ O}

This expression is difficult to translate directly into English, but loosely corresponds to ‘as
you know, you know, right?’, which is a tag question with a negative tag at the end. It is used
when making sure what is known by the speaker is correct or valid information as he/she

asks for an agreement; thus, it sounds similar to a tag question. = O} is a contraction of —
X| @40} .

For the verb 7L}, it conjugates to 7t X| 240F / 7+&EOF
For the verb 2L}, it conjugates to 2 X| 240t / @ T Ot
For the verb =L}, it conjugates to = X| %0} / Z &0t

For the verb O|C}, it conjugates to O X| 24 Of / O| &£ O

Examples)

o ItH| I+ UO| F7HELO}?

o LA THORR|. M7t HF EFOF?
e 0| LY MO|FEO}?

o O M[O] TtH| 2 S7HX| M| =3O

b) Noun / Verb stem-&0H )

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.
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For the verb 7L}, it conjugates to 7HA| 240tR / 7t&0OLR
For the verb 2L}, it conjugates to 2 X| %0t R / LEOtR
For the verb =L}, it conjugates to TX| A0t R / EXOtR

For the verb O|C}, it conjugates to O| X| 240tL / O|&OLR

Examples)

o ItH| It UO| FIHEOLR?

o AP JLOFR| @, M7} L 2 BROLR?
e 0| LY MO|FOIR?

o Of M|O] kK| 2 =77HX| M=ot ?

Grammar Rule 19

a) Verb stem + -C{ 210

It is used to express recollection of what a speaker knew, saw, experienced, and recollected.

For the verb 2L}, it conjugates to 25211 / L A|EHEtD
For the verb 7}LC}, it conjugates to 7FC{ 20 / ZHA|H 2t 1D
For the verb S}LI, it conjugates to StE 2t / SEA|E 2t
For the verb O| L}, it conjugates to O|C{ 211 / O|A|H 2t 1D

Examples)
o I} AUSO| A O Ot S2f7tEH et A,
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o OfF| o= & #Hatm,
e 1HTE QEo|E T,
o 343 240 LIoj A = YT},

b) Verb stem + -Cl2} 112

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 2L}, it conjugates to 2L 2t 1R / LA|E IR
For the verb 7L}, it conjugates to 7} EH 2t 12 / 7tA|EHEt DR
For the verb SFC}, it conjugates to SFEH 2t 1R / SIA|EHEt 1R
For the verb O| L}, it conjugates to O| G2t 18 / O|A| 2t

Examples)

o I} SO AR Ot S2t7HHEIL Q.
o O|X| o= & H5EEH1 K.

o 1 XL QSHHO|G 2.

o ot S410| MO A= Y¥HEI Q.

(X is the first-person pronoun of the polite speech level.)
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Grammar Rule 20

a) Verb stem +-L- L.

It is a suffix of the plain speech level used to deliver a message obtained from a third
source—that is, a reported speech in English. The message is about something that will

happen in the future. It is a short form of ‘verb stem+—L C} 11 &j’.

For the verb 2L}, it conjugates to 2+ L Clf / 2 A|+L CH
For the verb 7L}, it conjugates to 7H+ L Clf / 7FA|+ L CH
For the verb SIC} it conjugates to Sh+ L Cff / SEA[+L CH
For the verb 2 L}, it conjugates to E+L Cff / EAl+L C{

Examples)

o St 0N 22N R HALS THLH.

e O|H EotHH o= T30f ZHH.

o AFRAO| LIEHME H=5HOF otCH.

NTEESe]

b) Verb stem +- LR

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For the verb 2L}, it conjugatesto 2+L L2 / LA+ L LR
For the verb 7}C}, it conjugatesto 7+ L CH 2 / 7FAl+ L CHR
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For the verb SIC} it conjugates to SH+LIOR /SIA|+LCH R
For the verb L}, it conjugates to E+L [ R / EA[+LCHR
Examples)

e SO M AN HALE SHIH Q.

e O|H EotHH o= M0 ZHH Q.

o« AFRAO| AEHME HESHOFSHH R,

T ESe 1=}

Grammar Rule 21

a) Verb stem + (tense marker) + (2)2 &

It is a declarative suffix of the plain speech level used when telling someone about the
speaker’s guesses without certain confirmation. We use this form for the future, present
continuous, past, and past continuous. It means the same as the modal “might.”

For the verb 2L, it conjugatesto 2+2 4 /= 30+=2 A /2+2 4 /1 /U=
SO|U+= &2

For the verb SFC}, it conjugatesto Sh+2 2 /Sl= B0|+=2 A /+= 2 /6t Y&
SO|U+= &

For the verb L} it conjugatesto H+=2 2 /H= S0l+2 Z/HY+S 4 /HID U=
SO|U+= &2

For the verb 2 L}, it conjugatesto E+2 2/ E= 30+=2 2 /22 2/ EE

= (=)
S0|U+2 4
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Examples)
e AXZOEE AH T SE A,
.i

X AN HY YD AS H
o Lj AT Rl FO| BARE 242 2.
« Of¥| HT7} HBtsE 1} £ S FOIYS 2

b) Verb stem + (tense marker) + (2)2 28

When conversing with someone older, people add the suffix ‘2’ to make their speech more

polite. The suffix ‘2’ should be added when talking to older people or to superiors.

For theverb 2L} it conjugatesto = 2R /L= S 22 /S 22 /1 Y=

OIS 2R

For the verb SFC} it conjugatesto & 2R /St= 5L 22 /MS 2R /511 Y=

=p|oi2 A
S |}\AE E-Q-
For the verb HL}, it conjugatesto H= 2R/ H=SL ZQ/HAS Z2 /HD Y=

SO|IA=S Z
For the verb 2 L}, it conjugatesto = 22 / E= S 2R /82 22 /B0 UE

o
0|2 E28

Examples)
o I AZDEIE ANMC2E AL,

o X3 AT HY YD
o H ATE X FUO| BALE 7HS Q.
o OfF| 177} MBI I £ o= FOIHS HA
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Grammar Rule 21

Verb stem —(2)M| 2

It is an imperative suffix used to offer requests, suggestions, or commands in a polite way. It
is the same as ‘Verb, please.’

For the verb 2L}, it conjugates to 2Al| 2
For the verb 7L}, it conjugates to 7}Al| 2
For the verb SFC}, it conjugates to SHA| 2
For the verb 2 L}, it conjugates to 2 A 2

Examples)
e CHHRAM K.

« 0| & HOo{EA R,
°O{7| %O M Q.
o LIS 2= A0ENR

Grammar Rule 22

3 Verb stem +-O}/0] & (Verb stem + -X| Z3| 2)

‘& Verb stem +-0}/0{ 2’ is a synonymous structure with ‘Verb stem + -X| 23| Q. The

word ‘=’ delivers a negative meaning to a following verb.
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For the verb 2L}, it conjugatesto & 2+ | 2 / 2+X| 25

For the verb 7L}, it conjugates to = 7t / 7H+X| 252

For the verb SIC, it conjugates to &= Sh+ {1 (S K) / SH+X| 2
For the verb 2 L}, it conjugates to = E+ | 2(BIR)/ E+X| 2R

e SULAE ZHOR. (KX 2} R.)
SRS E ZoliR. (SHK Zolig.)
o Y0 Z7tQ. (7] 2o R.)

ot
ot

Grammar Rule 23

Verb stem + —0}/0{ A

It is an adverbial phrase used to provide reasons for the following clause. It conveys the
same meaning as ‘because (of).’

For the verb 2L}, it conjugates to 2+ | A{(2FA]) / LA+ A(L2M M)
For the verb 7}LC}, it conjugates to 7FA] / ZFA|+ 01 A{(Z7FA A])

For the verb SFL} it conjugates to O+ 1 A{(S| Af) / SEA|+ O] A (SFA{ Ad)
For the verb 2 L}, it conjugates to 2+ | A|(2FA]) / EA[+O{ A (E M M)

Examples)

o OFIA| ZAM Y
o FHOIAM HEOLR,

o HHEA @5 ROHLR.

S LI

El
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o RO EUAAN RS OK| 0 @5 SO0 MM 7| 20| &L
Grammar Rule 24
Verb stem —(2)L]| 7}

It is an alternative expression used to provide reasons for something.

For the verb 2L}, it conjugates to 2 L| 77} / QLA|L|7t / QL7 QA2 L|7)
[ ZEAIL L ) ZE L0t 2ER L7
For the verb S}FC}, it conjugates to SHL| 77k / SEA| L7t f U LT3k / SHR 2 L7
For the verb O|C}, it conjugates to O|L|77} / O|A|L|7}} / L2 L7}/ O| 2 L|7]

For the verb Z}C}, it conjugates to 7FL|7

f
f
f
f

-- T T T

Examples)

=20z 2E0[ ALt CHE S SF o EM 2.
o X| 32 HtEEL|7} LI=0f O[OF7|S}A,
o X7t L7 Of2| SHOFZ O,

LS —

Grammar Rule 25

Verb stem + —-(2)L /=0

This expression is used to provide background information or explanation of the following
clause in a sentence.

For the verb 2L}, it conjugates to L=10| / 2LA|=0H| / 2t=0| / LAl =0
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For the verb SFC}, it conjugates to St=0| / SHA|=H| / =4l / St =
For the verb AAFSIEL, it conjugates to AAISH=LO| / AMANSIA| =G| / AARE=H| /
AN =

For the verb O| L}, it conjugates to 210 / O|A1T| / O| =0 / O| Al =0

Examples)
e Ot=0| 1 =S MHEHSI D o 20 SF0| HE LICE
o X 2H0| Z7t= Al Z0| Zef?

=
e 20| A A=H AlIZt T2 M Q2

Grammar Rule 26
verb stem —-(2)L| 7}

It is a non-sentence-final-ending used to present background information or explanation of
the following clause in a sentence. It corresponds to ‘Now that I/you/we/he/she/it/they
verb'.

For the verb 2L}, it conjugates to 2 L| 77} / @ A|L| 7}t
For the verb 7L}, it conjugates to ZtL| 77k / ZFA| L 77t
For the verb S}FC}, it conjugates to SFL| 77k / SEA| L 77t

f

For the verb 2 L}, it conjugates to 2. L| 77} / 2 A|L| 77t

Examples)
e EM TS B ER |0 QUEs A ZEUCH

o SIRFAIO| CHA @ L| 77} 4= 0| B4t 2t
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o L7t =ASHL7 D= 2 =HIE »E Lt

Grammar Rule 27

Verb stem + (2)™

-(2)™ is used to convey a conditional statement about certain daily actions. It comes
before the result clause which will likely be brought about due to the stated conditions.

For the verb 2L}, it conjugatesto 23 / 2A|™
For the verb Z}LC}, it conjugates to 7t / 7tA| ™
For the verb S}FC}, it conjugates to SF 3 / SHA|™
For the verb 2 L} it conjugates to £ H / EA|H

Examples)

o Of Y ALNLE HO ™ 470 Fota

o M| B X| {5t H A A LT,

o 20f| 7 I|E DHA|TH O] O 2t Q.

o =2 T S2HE StH = Of| Y7t E LT

Grammar Rule 28

a) Verb stem + - (=) C} ™
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It is a non-sentence-final-ending used to express hypothetical situations, which corresponds
to the future conditionals, showing that there is a possibility that the situation can happen

in the future if the condition —C}H is satisfied.

For the verb 2L}, it conjugates to =2CtH / @ AICHH
For the verb 7L}, it conjugates to ZtCHH / Z7FAICHH
For the verb SFC}, it conjugates to $HCHH / SEAICHH
For the verb X}C}, it conjugates to 2LCHH / EAICHH

Examples)

o X5 RH 35| SFSLEH A0 Sard = A= Ot
o LY 22| 7} PHACHEH L7 M &A.

o W EHM AL ALCHEH & Z AHOE
o O|H A|H 0| SutotH HotsS &

b) Verb stem + - (tense marker) C}'™H

It is a non-sentence-final-ending used to express unreal hypothetical situations, which
corresponds to the present or past conditionals, showing that there is no possibility that the
situation would happen or would have happened.

For the verb 2L}, it conjugates to 2tCHH / @ NI CHH
For the verb 7L}, it conjugates to Z¥CHH / 7F A CHH
For the verb SIC} it conjugates to UCHH / SHECHEH
For the verb X}C}, it conjugates to BHCHH / 2 CHH

Examples)
o TS| SEJUCHH A-HO| STt = AUS 7OF
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o 25 Q2|7 BHEQICHY L7H X Y AH2 Hi.
o D4HMA G TAO) A4ICHE #0024 HOF,
O AIES B HCIT FB IS WE

Grammar Rule 29

Verb stem + —(2)2{H
It is a connective affix that corresponds to ‘if you want to verb’ or ‘in order to verb.’

For the verb 2L}, it conjugatesto 22{H / @A|2{H

For the verb SIC} it conjugates to St2{® / StA| 2 H

For the verb H L}, it conjugates to H22{H / EA[2{H (= A|C}is an irregular form of the
verb 2L} for a polite speech level)

For the verb 2 L}, it conjugates to 2 2{H / EA|2{H

Examples)
o MEME MZ5t LM ME| x| 2™ HotLt Ze2|LtR?
PEFSHE T QK| ZHOF B OF B L 7t?

CmE T

U
o MYME R dota{ T AtZ 20| 7H 2 A K.
o Lf 7S ThLEEH oF A|ZESQF 7| CH2{ OF &Y.

Grammar Rule 30

Verb stem =11 L}A{

It is a connective affix used to show the order of actions that corresponds to ‘after doing
something.’
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For the verb 2L}, it conjugates to 210 LIA] / QA| LD LEA

For the verb SFC}, it conjugates to St LEA] / SEA| L LEA

For the verb H L}, it conjugates to HI1 LEA] / EA|LD LA (EA|C}is an irregular form of
the verb 2 C} for a polite speech level)

For the verb 2 L}, it conjugates to 210 LEA] / EA| 1D LEA

Examples)
e MEME M5t LM Me| =2 H L0t ZE|Lte?
Lo LEM Hol S "L L

EHAIL LM O] X2 24 HL|C}
25130 LIM Al S £E AR Ao 2.

Of

Grammar Rule 31

Noun (2)&

It is a case particle that indicates “the reasons” for what is following. That is, the noun
preceding the reasons determines what happens due to the reasons.

Examples)
o £ ¢ FH| 2 HHHRX| ZUCE

e I XM= A7 ME WS Mo 2 QWSRO

s
o X5 AHU NFY L2 AE0| 27Hs LI
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Grammar Rule 32

Verb stem + (=) AL

It is a relative clause in the present or past tense used to describe an antecedent AFE. It is
the same as ‘a person, who verb (third person singular or the past verb)’.

For the verb 2L}, it conjugates to 2+L A}2
For the verb Z}LC}, it conjugates to 7+ AF2f
For the verb SIC} it conjugates to S+ ALEH

For the verb QALY it conjugates to U+= AFZ

Examples)
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